Extend Pade

¢ Find the unknown number. Circle the correct

12

i b.
d. 160000 : ¢. 12,000  d. 120,000

: Choose the appropriate symbol to accurately |

|| ; compare the two values of time. Circle the correct |

120 hours OS days 660 s
< b. > 4. <
.= d.f P

10 min
b. >

d.+

()
Sy ?
H ‘:\\

i Convert to solve the problem.

Jan jumps 4 meters !
in the long jump
event at a track
meet. How many
centimeters does

Jan jump?

Grace rides her
bicycle 7
kilometers to the
park. How many
meters does she
ride to the park?




